


SSC CGL/CHSL TIER 2 (CRASH COURSE)

1).The present ages of three colleague's are in proportions 3 : 5 : 7. Four years ago,
the sum of thier ages was 48. find their present ages (in years) ?

dF TEH Tl & gaH 3 3: 5: 7 81 IR UId Ugdl, 3931 39 &I AN 48 UT| TaHH 34
(@l H) &7 gdl ame?

1) 12,20,28

2) 12,15,33

3) 15,28,17

4) 20,12,28
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2)The ratio of the Mother's age to her daughter's age is 9 : 5. The
product of the1r ages 1s 1125. The ratio of their ages after ten year
HTAT JUT T 1 3R & 3T 9:5 8 3! 3 o OB 11258 ol
P! 3 © ‘HﬂT 10 Tl ST T BN 2
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3). The age of Sohan is 4 times that of his son. Five years ago Sohan was nine times
as old as his son was at that time. The %resent age of the sohan is-

qig B! 3 39D T DI 3T Dl 4 | U1 9N Ugol Iigd i 3 39 T Bt 39
Wﬁ&&%ﬁﬁr%zﬁl&gﬁ%ﬁﬁa@qﬂm% & i

a)9

b) 8

c) 12
d)ll
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£)T

he ratio between the present ages of A and B is 3 : 5 respectively. If
the difference between B's present age and A's after 7 year is 3 what is

the total of A's and B's present age ?
JdT T A TUT B D

b 3UId 3:5 gARBD

b1 IH 3T 3R A C

o1 7

qY 91¢ A BT AR 3T AIAARB P 3
a) 40
b)45
c)20
d)not
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5).If x years ago, Raj’s age was four times the age of his daughter, and x years
hence, Raj’s age will be twice the age of his daughter, find the ratio of the present
;%es of raj and his daughter.

x TY U, IS I 3T SUP! Tl BT 3R DI IR A1 A, 3R x a8 916, I BT 3T
Wﬁﬁmﬁ%m,yﬂaaﬁvw DI IdHA 3T BT ST I

PIfoTT|

(a) 5:2
(b) 3:2
(c) 4:3
(d) Not
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6). The product of the ages of Harish and Seema is 240 . If twice the age
of Seema 1s more than harish’s age by 4 years, what is Seema’s age in

2 3R AT B Y BT ST 240 . zrmﬂmcﬁ 498
&@ES%eﬁm@ra‘r@me 3T T 87 A
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1)-20 years ago my age was % of what it 1s now. What 1s my present

age”? N .
20 I Ugd TR IY TSI bl 1/3  dl B 99 ST HT T ?

(1) 30 years
(2) 25 years
(3) 35 years
(4) 40 years
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8)Tvvo years ago, a mother was four times as old as her daughter. 8 years
hence, mother’s age will exceed her daughter’s age by 12 Years.The
ratio of the present ages of mother and daughter 1S ]

ct{-IQ'IHE;Q'I e S AR {J;-I%' IQSHQ’IGIC&HG’)IGHQ

Tt &rf%oa‘rw@ﬂ ée"rc Gu“érmsﬁ?éﬁc"r AT 3 T 3UTd &

(a) 3:1
(b) 4:1
(c) 3:2
CEH!
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9).A father’s age is three times the sum of the ages of his two children,
but 20 years hence his age will be equal to the sum of their ages.
Then the father’s age is

e fOdT b1 34 30 <l =l BT 3Y b I &7 ol T &, aifebT 20 Al

SIG UG U ITH! 3U & AN & SRIR gA | af e 31 3T 2

(1) 30 years
(2) 40 years
(3) 60 years
(4) 45 years
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10). The present average age of A, B and C is 44 years. 18 years from now,
the age of B will be equal to the sum of the present ages of A and C. Find
the present age of B?

A,B 3R C &I gH 1A 31 44 Y &1 39 | 18 IY 9T, B P MY A 3R C
31 I ST & TN & SRIER Rt B B aATH 3R] T FHHN?

(a) 55
(b) 53
(c) 59
(d) not
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1). The average present age of A and B 1s 27 years. The ratio between
their ages, after 8 years will be 9:5. Find the age of B after 2 years from
his present age?

A 3R B B! 3{d daHH g 27 a &1 8 TN §IG 3! 3T BT 3JUId 9:5
BT B ! daH 3 & 2 Y d1¢ I9d! 31 JTd B ?

(a) 12
(b) 17
(c) 19
(d) not
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12). Present age of Q is 7% times of P. The average present age of Q and R
1s 35 years. If 5 years ago the sum of ages of P and Q is 55 years, then find
the difference betvveen present ages of P and R?

Q P! IAHI 3 P 1 % T 81 Q 3R R Bl 37 A 31 35 99 51 Tfe 5
ay Ugdl P 3R Q I 31T &1 UNT 55 GY &, I P 3R R DI IAH 3G &b o1 BT
3[R JTd ifor?

@) 2
(I
() S
(d) 8
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P is 12 years younger than Q and 3 years ago Q was three times of the
present age of R .If present age of P is twice the present age of R, then
find the present age of Q.

XX RP. dﬁfmd%&ﬁ?s ay U8l Q, R Pl g 1Y 1 i T[T 47| Ife P
3! I ST R B GITH 3R] BT ST &, A Q B GIHH 3R] 1 FHHOTT

(a) 30
(b) 32
(c) 28
(d) 42
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14).In 10 years, A will be twice as old as B was 10 years ago. If A 1s now 9
Years older than B, the present age of Bis ?
10 9Y dTq Aeé’rauaﬁ:ﬁa?ﬁ% B I 39 & 10 9Y Ugd o, TR A Pl 3 9
YD B TSI ol B DI dqHT Y Tl HR?

(a) 18
(b) 19
(c) 20
(d) 23
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15). Kusum’s present age is 33(1/3) % of his father’s age and his father’s
age is half of kusum’s grandfather’s age. The average of the present ages
of all of them 1s 500/6 years. What was the ratio of their ages 10 years
ago?

YA D IAHI 3M1g I8 U] BT 3T BT 33(1/3)% § 3R I&eb fUell bl 377
$H & qraron ®i g oI 3eft g1 39 IHt DI 3T acdH 31 500/6 9 B
10 aY Jd 3! 3 I 3IUTd T UT?

(a) 5:13:17
(b) 5:12:21
(c) 4:7:13

(d) 4:12:13
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16).The present average age of Surya and Veer is 6p — 15 years. The
present average age of Surya, Veer and Singh 1s 4p + 6 years. If the
present age of veer is 25% less than the present age of singh and 20%

more than the present age of surya, then find the

3R IR &I Ta9H, 3{d 3T 6p — 15 TS g
4p + 6 IY g1 Jfg dR I adqH g g ©

resent age of surya

,?ﬂ?@lﬂ%‘s’éﬁ JHT

51 IHT 3T T 25% S

g 3R Y I adH 3 T 20% 3D g, O T P dHH 31 JTd PIog|

(a) 15
(b) 18
(c) 30
(d) 28




